Rid	Tabl	ulatio	n For:
DIU	I au	ulaliO	II FOI.

Construction of Sanitary Sewer Rehabilitation - Grant Surplus Funds

To Serve City of Galena Park

Bid Opening Date:

September 2, 2025

Bid Opening Location:

Galena Park City Hall 2000 Clinton Drive

Galena Park, TX 77547

Tabulation By:

**Tammy Endres** 

**Tabulation Date:** 

September 2, 2025

LJA Project No.

E144-0540

Bidder's Name:

Total Bid Amount for the Base Bid and Supplementary Items:

1) Ram Rod Utilities, LLC

\$1,183,750.00

2) Lopez Utilities Contractor, LLC

\* \$1,210,156.00

3) Tejano Utilities, LLC

\$1,268,602.00

4) CZ Construction, LLC

\$1,746,980.00

Calendar Days - 90



I, Mark Havran, P.E., hereby certify these bid tabulations to be true and correct.

\*Mathematical Error

City of Galena Park Sanitary Sewer Rehabilitation - Grant Surplus Funds				26119 Interstate 45 N, Suite 215 Spring, TX 77380		South Houston, TX 77587		Tejano Utilities, LLC 28602 Benderwood Ct Spring, TX 77386 832-898-8638		CZ Construction, LLC 806 E. Wellington St. Houston, TX 77076 832-298-8505		
1.14.1.1666			Daniel Hernande		Ricardo M. Lopez		Hugo Plum		Vanessa Gutierrez			
				daniel@ramrodu			rm.lopez@sbcglobal.net		rp.tejamollc@gmail.com		v.gutierrez@cz-llc.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	
	BASE BID ITEMS	40.700	. –	<b>04.7</b> 5	<b>#00.005.00</b>	#O 00	<b>#05.400.00</b>	<b>#0.00</b>	#05 400 00	<b>#4.00</b>	<b>#45.040.00</b>	
	Clean 16-Inch and Smaller Gravity Sanitary Sewers, Complete in Place	12,700	LF	\$1.75	\$22,225.00	\$2.00	\$25,400.00	\$2.00	\$25,400.00	\$1.20	\$15,240.00	
	Television Inspection of 12-Inch and Smaller Gravity Sanitary Sewers, Complete in Place	12,700	LF	\$1.00	\$12,700.00	\$2.00	\$25,400.00	\$1.50	\$19,050.00	\$1.20	\$15,240.00	
	6-Inch Sewer Reconstruction by Pipe Bursting with 8.625-Inch O.D. Polyethylene Pipe (SDR 19), all Depths, Including By-pass Pumping, Trench Safety, Post TV Inspection, Etc., As Directed by Owner's Representative, Complete in Place	12,097	LF	\$33.00	\$399,201.00	\$32.00	\$387,104.00	\$36.00	\$435,492.00	\$33.00	\$399,201.00	
	8-Inch Sewer Reconstruction by Pipe Bursting with 8.625-Inch O.D. Polyethylene Pipe (SDR 19), all Depths, Including By-pass Pumping, Trench Safety, Post TV Inspection, Etc., As Directed by Owner's Representative, Complete in Place	603	LF	\$33.00	\$19,899.00	\$34.00	\$20,502.00	\$36.00	\$21,708.00	\$33.00	\$19,899.00	
	Standard Concrete Sanitary Sewer Manhole, 4-Foot Diameter, 0-8' Depth, Complete in Place	9	EA	\$4,600.00	\$41,400.00	\$4,800.00	\$43,200.00	\$5,500.00	\$49,500.00	\$6,700.00	\$60,300.00	
	Polymer Reinforced Sanitary Manhole, 4-Foot Diameter (Up to 8' Depth) with Corrosion Resistant Polymer Concrete, Including All Appurtenances, Complete in Place	4	EA	\$17,100.00	\$68,400.00	\$6,200.00	\$24,800.00	\$7,000.00	\$28,000.00	\$8,000.00	\$32,000.00	
	Extra Depth Manhole (Over 8-Foot), As Directed by Owner's Representative, Complete in Place	25	VF	\$5.00	\$125.00	\$300.00	\$7,500.00	\$400.00	\$10,000.00	\$450.00	\$11,250.00	
	Short Service Connection (4-Inch), Complete in Place	170	EA	\$620.00	\$105,400.00	\$400.00	\$68,000.00	\$950.00	\$161,500.00	\$600.00	\$102,000.00	
	Long Service Connection (4-Inch), Complete in Place	60	EA	\$825.00	\$49,500.00	\$850.00	\$51,000.00	\$950.00	\$57,000.00	\$850.00	\$51,000.00	
	Short Service Connection (6-Inch), Complete in Place	3	EA	\$700.00	\$2,100.00	\$600.00	\$1,800.00	\$950.00	\$2,850.00	\$800.00	\$2,400.00	
	Long Service Connection (6-Inch), Complete in Place	19	EA	\$900.00	\$17,100.00	\$900.00	\$17,100.00	\$950.00	\$18,050.00	\$1,050.00	\$19,950.00	
12	Deep Connection (4-Inch or 6-Inch), Complete in Place	5	EA	\$150.00	\$750.00	\$300.00	\$1,500.00	\$1.00	\$5.00	\$450.00	\$2,250.00	
13	Normal Connection (4-Inch or 6-Inch), Complete in Place	247	EA	\$150.00	\$37,050.00	\$250.00	\$61,750.00	\$1.00	\$247.00	\$350.00	\$86,450.00	

Bid Tabulation - Bid Opening, September 2, 2025				Ram Rod Utilities, LLC Lopez Utilities Contra		Contractor, LLC	Tejano Utilities, L	LC	CZ Construction, LLC			
City of Galena Park				26119 Interstate 45 N, Suite 215 715 Minne		715 Minnesota S	15 Minnesota Street 28602		28602 Benderwood Ct		806 E. Wellington St.	
Sanita	ry Sewer Rehabilitation - Grant Surplus Funds			Spring, TX 77380		South Houston, TX 77587		Spring, TX 77386		Houston, TX 77076		
LJA Project No. E144-0540				281-809-3106		713-987-9719		832-898-8638		832-298-8505		
FRN F	FRN F-1386				Daniel Hernandez		Ricardo M. Lopez		Hugo Plum		Vanessa Gutierrez	
				daniel@ramrodu	<u>ıtilities.com</u>	rm.lopez@sbcglobal.net		rp.tejamollc@gmail.com		v.gutierrez@cz-llc.com		
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	
14	Drop Connection at Proposed Sanitary Sewer Manhole, Complete in Place	1	EA	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00	
15	Manhole Reconstruction, Cementitious Liner, w/ Testing, Complete in Place	1,640	VF	\$136.00	\$223,040.00	\$140.00	\$229,600.00	\$140.00	\$229,600.00	\$140.00	\$229,600.00	
16	Sanitary Sewer Cleanout Per Detail, Complete in Place	16	EA	\$1,400.00	\$22,400.00	\$1,800.00	\$28,800.00	\$1,200.00	\$19,200.00	\$3,000.00	\$48,000.00	
17	Traffic Control, as Necessary, Includes Acquiring Permits, Installation, Maintenance, & Removal of All Traffic Control Devices Required by Permit and as Shown on Project Plans, Complete in Place	1	LS	\$1,100.00	·	\$6,000.00	\$6,000.00	\$1,000.00	\$1,000.00	\$13,000.00	\$13,000.00	
18	2-Inch Asphalt Surface, Width Varies, Per Detail, Includes Saw-Cut and Removal, And Replacement 8-Inch Asphalt Base, Gr. 2, PG-64, Per TXDOT Item 292 and 2-Inch Surface, Type "D" Per TXCOT item 340, Complete in Place	680	SY	\$47.00	\$31,960.00	\$115.00	\$78,200.00	\$65.00	\$44,200.00	\$500.00	\$340,000.00	
19	SWPPP Reinforced Filter Fabric Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place	500	LF	\$1.00	\$500.00	\$5.00	\$2,500.00	\$2.00	\$1,000.00	\$6.00	\$3,000.00	
	SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 19	,			\$1,056,250.00		\$1,082,656.00	\$1,124,602.00		\$1,452,780.00		
	SUPPLEMENTARY ITEMS											
20	"Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place	100	CY	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$30.00	\$3,000.00	
21	"Extra" Crushed Limestone Bedding, As Directed by Owner's Representative, Complete in Place	50	CY	\$25.00	\$1,250.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00	\$45.00	\$2,250.00	
22	"Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As As Directed by Owner's Representative, Complete in Place	10	TON	\$30.00	\$300.00	\$30.00	\$300.00	\$30.00	\$300.00	\$45.00	\$450.00	
23	"Extra" Class A Concrete, As Directed by Owner's Representative, Complete in Place	30	CY	\$100.00	\$3,000.00	\$100.00	\$3,000.00	\$100.00	\$3,000.00	\$450.00	\$13,500.00	
24	"Extra" Reinforcing Steel, As Directed by Owner's Representative, Complete in Place	500	LB	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$4.00	\$2,000.00	
25	"Extra" Turf Establishment Full Sodding, Complete in Place	500	SY	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00	

Bid Tabulation - Bid Opening, September 2, 2025				Ram Rod Utilities, LLC		Lopez Utilities Contractor, LLC		Tejano Utilities, LLC		CZ Construction, LLC	
City of Galena Park				26119 Interstate 45 N, Suite 215		715 Minnesota Street		28602 Benderwood Ct		806 E. Wellington St.	
Sanita	ry Sewer Rehabilitation - Grant Surplus Funds			Spring, TX 77380		South Houston, TX 77587		Spring, TX 77386		Houston, TX 77076	
LJA Project No. E144-0540				281-809-3106		713-987-9719		832-898-8638		832-298-8505	
FRN F	-1386	Daniel Hernand	ez	Ricardo M. Lopez		Hugo Plum		Vanessa Gutierrez			
				daniel@ramrodu	utilities.com	rm.lopez@sbcglobal.net		rp.tejamollc@gmail.com		v.gutierrez@cz-llc.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
26	Small Obstruction Removal, As Directed by Owner's Representative, Complete in Place	75	EA	\$250.00	\$18,750.00	\$250.00	\$18,750.00	\$250.00	\$18,750.00	\$500.00	\$37,500.00
	Obstruction Removal by Excavation, As Directed by Owner's Representative, Complete in Place	50	EA	\$500.00	\$25,000.00	\$500.00	\$25,000.00	\$500.00	\$25,000.00	\$1,500.00	\$75,000.00
	Slip Line Removal, As Directed by Owner's Representative, Complete in Place	500	LF	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00
	Manhole Adjustment, As Directed by Owner's Representative, Complete in Place	30	EA	\$250.00	\$7,500.00	\$250.00	\$7,500.00	\$250.00	\$7,500.00	\$500.00	\$15,000.00
	SWPPP, Area Inlet Protection Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place	50	EA	\$10.00	\$500.00	\$10.00	\$500.00	\$10.00	\$500.00	\$100.00	\$5,000.00
31	Standard Concrete Sanitary Sewer Manhole, 4-Foot Diameter (Up to 8' Depth), Sealed and Bolted, with Cast-In-Place Base, Including Connections of Existing and Proposed Lines as Required, and All Appurtenances, As Directed by Owner's Representative, Complete in Place	1	EA	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$6,700.00	\$6,700.00
32	Well Point Dewatering System, Installed, Operated and Removed As Directed by Engineer's Representative, Complete in Place	500	LF	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$50.00	\$25,000.00
33	8-Inch Sanitary Sewer, Open Cut Construction, Solid Wall PVC, SDR 26, All Depths, Including By- pass Pumping, As Directed by Owner's Representative, Complete in Place	200	LF	\$50.00	\$10,000.00	\$50.00	\$10,000.00	\$80.00	\$16,000.00	\$120.00	\$24,000.00
	12-Inch Sanitary Sewer, Open Cut Construction, Solid Wall PVC, SDR 26, All Depths, Including By- pass Pumping, As Directed by Owner's Representative, Complete in Place	200	LF	\$70.00	\$14,000.00	\$70.00	\$14,000.00	\$100.00	\$20,000.00	\$160.00	\$32,000.00
35	18-Inch Sanitary Sewer, Open Cut Construction, Solid Wall PVC, SDR 26, All Depths, Including By- pass Pumping, As Directed by Owner's Representative, Complete in Place	150	LF	\$120.00	\$18,000.00	\$120.00	\$18,000.00	\$150.00	\$22,500.00	\$260.00	\$39,000.00

Bid Tabulation - Bid Opening, September 2, 2025					Ram Rod Utilities, LLC		Lopez Utilities Contractor, LLC		Tejano Utilities, LLC		CZ Construction, LLC	
City of Galena Park				26119 Interstate 45 N, Suite 215		715 Minnesota Street		28602 Benderwood Ct		806 E. Wellington St.		
Sanitary Sewer Rehabilitation - Grant Surplus Funds				Spring, TX 7738	30	South Houston, TX 77587		Spring, TX 77386		Houston, TX 77076		
LJA Project No. E144-0540				281-809-3106		713-987-9719		832-898-8638		832-298-8505		
FRN F-1386			Daniel Hernandez		Ricardo M. Lopez		Hugo Plum		Vanessa Gutierrez			
				daniel@ramrodutilities.com		rm.lopez@sbcg	rm.lopez@sbcglobal.net		rp.tejamollc@gmail.com		v.gutierrez@cz-llc.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	
36	10-Inch or smaller Sewer Reconstruction by Pipe Bursting with 10.75-Inch O.D. Polyethylene Pipe (SDR 19), all Depths, Including By-pass Pumping, Trench Safety, Post TV Inspection, Etc., As Directed by Owner's Representative, Complete in Place		LF	\$45.00	\$9,000.00	\$45.00		\$45.00	\$9,000.00	\$38.00	\$7,600.00	
37	Trench Safety System, As Directed by Owner's Representative, Complete in Place	600	LF	\$2.00	\$1,200.00	\$2.00	\$1,200.00	\$2.00	\$1,200.00	\$2.00	\$1,200.00	
	SUB-TOTAL SUPPLEMENTARY ITEMS - ITEMS 2	0 - 37			\$127,500.00		\$127,500.00		\$144,000.00		\$294,200.00	
	SUMMARY OF BID											
	BASE BID ITEMS	ITEMS '	l - 19		\$1,056,250.00	-	\$1,082,656.00	-	\$1,124,602.00	-	\$1,452,780.00	
	SUPPLEMENTARY ITEMS ITEMS 20 - 37				\$127,500.00	-	\$127,500.00	-	\$144,000.00	-	\$294,200.00	
	TOTAL BASE BID AND SUPPLEMENTARY ITEMS		\$1,183,750.00	_	\$1,210,156.00	_	\$1,268,602.00	_	\$1,746,980.00			